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Please adhere to the followin
use, springs can scatter upon

items when using our products. Due to their condition of
reaking and be a cause of injury.
- Please do not use LR with a deflection exceeding Free length 320% (Long-size is excluded)
- Please do not use MR with a deflection exceeding Free length 24.0% (Long-size is excluded)
- Please install the spring in a slightly compressed condition (state of initial pressure).
ERMEETIUATER., EAFERY, AAEENNRENCHESBASGE.
- LR HEE{E EMREARTEIT A B x 32.0%, (KR-THEERIN)
- MR HsEE{E FEREAAEIT A BK x 24.0%, (KRTHEBRID)
- IR EWEN, NMEEEAZERNRS (BREMRKS ) TER.

| @ Table of standards | #l#&% |

% With setting, Polished B2 - i E

% 1 Pack =20 pieces

KR 20 MK

. . ) Free length X 16.0% | Free length X24.0% | Free length X 32.0%
Model  |Dme | D | 1y Sp"?§§C£TSta”t R St o
# =2 NE | BB | BEK Lk Deflectsion Load Defleclsion§ Load Deflectsion Load
(mm) | (om) | (o) [ /mm) ¢ (gt mm) | ey N | on N | o N
LR 3 x 10 10 | 279 {028}] 16 24 3.2
15 30 | 20 15 1.86 {0.19}| 24 = 44 3.6 6.7 48 88
20 | 1 20| 140 {014}| 32 {045}| 48 {0.68}| 64 {090}
25 25 | 112 {011} 40 6.0 80
LR 4 X 10 10 | 492 {050}| 1.6 2.4 3.2
15 15 | 328 {033} 24 3.6 48
204026 | 20| 246 {025} 3.2 l 072} 438 {:12'3} 6.4 {:%gl
25 25 | 197 {020} 4.0 : 6.0 ' 8.0 :
30 30 | 164 {017} 48 7.2 9.6
LR 6 x 15 15| 736 {075}| 24 3.6 48
20 20 | 552 {056}| 3.2 48 6.4
25|60 |40 | 25 | 442 {045}| 40 |:7é(7)} 6.0 { 567'31 8.0 {2563’
30 30 | 368 {038} 48 : 7.2 ' 9.6 :
35 35| 315 {032} 56 84 | 11.2
LR 8 x 15 15 | 13.08 {1.33}| 24 36 4.8
20 20 | 981 {1.00}| 3.2 48 6.4
25| 00|54l 25| 785 {080} 40 314 6.0 47.1 80 628
30 | |8 | 654 {067}| 48 (320)| 72 {480}| 96  {6.40}
35 35 | 561 {057} 56 8.4 112
40 40 | 491 {050}| 6.4 9.6 12.8
LR 10 X 25 25 | 1227 {1.25}| 4.0 6.0 8.0
30 30 | 1022 {1.04}| 48 7.2 9.6
35 |00l 65 351 876 1089} 56 490 84 736 | 11.2 98.1
40| | T |40 | 767 {078}| 64 {500}| 96 {751} | 128 {100}
45 45 | 681 {069} 72 10.8 14.4
50 50 | 6.13 {0.63}| 8.0 12.0 16.0
LR 12 X 25 25 | 1765 {1.80}| 4.0 6.0 8.0
30 30 | 1471 {150}| 4.8 7.2 9.6
35 35 | 1261 {1.29}| 56 84 11.2
40 |, 0| go [ 40| 11.03 {112}| 64 @ 706 9.6 1059 | 128 = 141.2
45 | T 77 | 45| 981 {100}| 72 {7.20}| 108 {108} | 14.4 | {14.4}
50 50 | 883 {090}| 80 120 160
55 55 | 8.02 {082} 88 132 176
60 60 | 735 {075} 9.6 14.4 19.2
1N = 0.102 Kgf Load (N) = Spring Constant(N/mm) X Deflection (mm)

1IN (41) = 0.102 Kgf (F3%)

787 (N) = g R (N/mm) X E458 (mm)





